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WEST BENGAL’ STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017

HISTORY-HONOURS

PAPER-HISA-V
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. e AT FYZ RPNT o 7 fcie ¥ 1
Candidates should answer in their own words AT A0 ST TR TG NN W
and adhere to the word limit as practicable. Tez IR/

Group-A
Ren-=

1. Answer any four questions from the following: 5x4 =20

e @-cm 51afd aeas e fee

(a) Enumerate the causes of the Revolt of 1857.
sorea Ioiws wikican & & Fra e ¢

(b) What were the objectives of the Aligarh Movement?
WIfeTsIG SiTwieTa ar) & foet 2

(c) What do you mean by the ‘Safety-valve theory’?
‘TS - OleTS O’ IE0S B @RI 2

(d) Mention at least two limitations of the Moderates.
TANRHR TES: Y HEeTOId SrErd T

(e) What was the essence of Gandhiji’s Satyagraha?
shferdia Fenarz TR & fos 9



FAWAIVIATL (U DAGN

(f) Why was the Swarajya Party formed?

@ FAS e sifdw zrafee ¢

(g) Why did the Cripps Mission fail?

ot e (o 1 orafes 9

(h) Discuss the Process of integration of the Princely states within the Indian

3066

Nation State,

SRS SO AR e (TN AR YR A s 3w

Group-B
femt-2

Answer any four questions from the following

FefefRe ca-coim 5136 drsia B fow

Account for the regional variations in the revolt of 1857.

sres TR Rumivea vl tafvay Reses v

Do you agree with the view that “the theory of the deindustrialization in
early colonial India is a myth™?

“ @M T 21T *itd ORTe SRIHRTAR ©g «fd WMNT FHN W -
9% 3G & ALy 2

Why did Extremism originate in Indian Politics?

Do you think that the Civil Disobedience Movement was a qualified
advance over the Non-Cooperation Movement in every respect?

AR & T I IR W ST TR SRS (UE TR T
et g

20x4 =80

20

20
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10.

3066

Give an account of the growth of modern industry in India between 1919 to
1939. How did colonial rule affect the nature of industrialization during this
period?

Sods AP (A Svos I s wiare Wy e [ e w1 @2
R R s eofie =i renm gt TR ¢

Show how the Muslim League was gracually converted into an instrument
of full scale separation.

ewm fa o A B AR Rbmeor® wwees afems Feke
erafes o {3ze 7

Did the Tebhaga Movement succeed in achieving its goal?
(SOl STwE & 17 Tl S0 75 TR 2

Why was planned economy adopted in india? Mention the main objectives
of the first two Five-Year Plans.

R ReEe wdRife @q a4z 7 ke ¢ 4ew ¢ Gy S
*IATEaR 2w %) TrEd I

What was the position of women in late nineteenth and early twentieth
century Indian society?

B! wroraa (17 ¢ T Wo(aq (S BRSO WIS AAE SZw & 2 2

14+6

L
20

16+10

20
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B.A. Honours PART-III Examinations, 2017

HISTORY-HONOURS

PAaPeER-HISA-VI
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. 28 itz FF oG o 917 et 222
Candidates should answer in their own words NG e OIRT I FHET AEANG T

and adhere to the word limit as practicable. ez IR

Group-A
Ren-&
1. Answer any four questions from the following:
frefeiRe @-ctw 51t e es fawe
(a) What was the influence of Montesquieu on the French Revolution?
TN Rea 8ok WHE erer & et ¢
(b) What was the civil constitution of the clergy?
Jrerwerd e R & 9
(c) What were the principles of the Vienna Settlement?
ol et e Nivek & e o
(d) To what extent was the pelicy of terror in France justified?
TS FHICT M TO0! W1 2w 9
(e) What was the role of Louis Kossuth in the Hungarian Revolution?

QoA Rl o8 7es it & fee o

A
"
EAS
]
[\
&

3067 i Tura Over



B.A./Part-lIl/Hons./HISA-V1/2017

(f) Write a short note on ‘Little Napoleon.’

g (FeoAferaT -a3 Tor @b w e B forgm

(g) What were the principal differences between Pre-Marxian and Marxian

Socialism?

2ARF-TERT @ NEAT FNCrSTAH WY &eiey el & o

(h) How did the First World War lead to collapse of the old Empires?

[

i

3067

AW [ Feia e Aareyefer mw 7t Fwafe ?

Group-B
faett-2
Answer any four questions from the following 20%x4 =80
fewfarie -aiw 1afp e Tea faw
Explain the background and significance of the aristocratic revolt in France. 20

T Sfoere Rt @ Fielb ¢ eFy [Resd FFq)

Make an assessment of the Jacobin Republic. Was the terror justified? 10+10

SYSIRA eeTerEd a3 b Teaw e | Fae & gfesmrs e ¢

Would you agree with the view that Napoleon was both the heir to and the 20
liquidator of the revolution?

(eetfers Reta Tl @R YT 122 fore 1 Sl & 2 W swda 3w

Do you think that the main centre of revolution of 1848 was central Europe 20
and not France?

AT 16 T P02 @ Sb-8b T A @il (e e Wey-RBeAN, P 2
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10.

3067

Was German unification achieved more by ‘coal and iron’ than by ‘blood
and iron’?

&N @9 eferwt & 9w 6 (MR S weormt Tt ¢ @Y Afeq 7l @ A
Tt

How did industrialisation in Europe create a new working class? Show how
trade unionism and labour parties emerged through the struggles of this
class.

TR PreTe Feng @i T AN& @N 9T (O ¢ a2 @A AT Ty
faca [Feia (e [ofaw qak =i warefs o1 6o ¢

What is Romanticism? Examine its impact on art, music and literature of
19th Century Europe.

Qe By T wreraa 3Twet i, e ¢ FMEre) @F Ao “fiteTsa
FEA |

Trace the development of Balkan nationalism. Did the Treaty of Berlin
(1878) satisfy the Balkan nationalist aspirations?

TR ORI SRS 3T Tww AR AF (rav) B wEW
SIS St = Fa0o Coicafee ¢

Is the period between 1870-1914 termed as the “Age of Imperialism™?
Sbra0-3538 TR TISIPIAE & AFCTIIHR Fo© I T 9

20

8+12

5+15

12+8

20
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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017
HISTORY-HONOURS

PAPER-HISA-VII

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. eife T FE TG 9T M7 [0 T 1
Candidates should answer in their own words FAFG Ao ST TR FGI AT T
and adhere to the word limit as practicable. Be7 IR/
Group-A
few-w
1. Answer any four questions from the following: 5x4 =20
fesferie - B1af6 2vew Tea fuee

(a) What was the impact of Reparation problem on international politics?
HEEoS qremiied Bo Hiovme TR erer [ fee ¢

(b) Why did the Weimer Republic fail?
SIZR eere (W Y ZfEe ¢

(c) Do you agree that aggression was the chief characteristic of Hitler’s foreign
policy?

w1 & 2e (@ ST Roaiae *Rmigaes T (e 2 ¢
(d) Why did Fascism rise in Italy?
TOITS TR TR (o A ?
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{¢) Why was COMECON formed?

Fhen 7 e T foet ¢

{f) What dc you mean by Decolonisation?

R-Teifraniead 3ete & @ 9

{g) How do you explain tension within the Soviet Bloc?

CTfSTEs (SItha SR Tres 3 St fFei e w3 ¢

{h) What do you mean by Uni-polar world?

b

n

3068

9T (7 [ IS Wi 9 e 9

Group-B
o4

Answer any four questions from the following 20x4 =80

ffafe - 517 ez Tea fuw

Critically evaluate the Versailles Settlement of 1919. 20
555 -2 R AW BT ANEATAEE I 35

What was the impact of the French quest for security on European 20
diplomatic relations during the inter-war period?

TR Retras gt iy TR FHAST TwIreR ol e fRatorst s
eroR 3 fizt ¢

Discuss the activities of the League of Nations. Why did it ultimately fail? 12+8
Ao R (T3 I SN TP | @b (17 o8 T gL 9

What was the impact of the World Economic Depression on intemational 20
politics?

TSP ATOR T oy Safoss sPata erorg & feet 9

2
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10.

3068

Analyse Stalin’s foreign policy after 1945.
98¢ &3 #It3 Fonferaa RS Reerge w1

What do you understand by the term “Non-Alignment”? What was the
contribution of Jawaharlal Nehru to the progress of the Non-Aligned
Movement?

‘@B FRrerEer e B @rE ¢ FrElt wiewEe waefen oweE wezsE
(R o= 3 et 9

How do you explain the end of Cold War?
et e AR S e Tt /== ¢

Discuss the circumstances leading to the reunification of Germany.

TfiaR s adTaR ARESal wiEm )

How does globalization influence the contemporary world?

s e TeaW e aeiffe s ¢

20

10+10

20

20

20
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WEST BENGAL STATE UNIVERSITY
B.A. Honours, PART-III Examinations, 2017

HISTORY-HONOURS

PAPER-HISA-VIII

Time Allotted: 4 Hours

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.

Group-A
Renrt-=

1. Answer any four questions from the following:

et @-@ 51afD eives Tew fuas
(a) What is meant by ‘Tribute System’?
TG Y IACS H (NI 2
(b) What was ‘Junk Trade’ in China?
Bies “wre Aifdey R fezt o

(c) Write a short note on the treaty of Nanking.
AR (e Boim 93t e Biat o)

Full Marks: 100

enfe% Fag wg AT opf 7 o ¥
AN TS ST TR TSI XA TG
Bz FRE

5%4 =20

(d) What is meant by the rule of the Warlords in China?

(e) What were the main causes of the failure of Taiping Rebellion?

SizfoR R gdfer ey smaaFH RN o

3069 |

Turn Over
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(f) Explain the significance of the Perry Mission (1853) in Japan.
AN (oI Tt (b @0 ) SIsid Iy I |

(g) What were the provisions of the Treaty of Portsmouth (1905)?
(oI TR T (sv0¢ ) R B R 9

(h) How did ‘Zaibatsu’ rise in Japan?
TN TEAI T G e e ¢

Group-B
Retat-2

Answer any four questions from the following 20x4 =80

fatfeie - o1afp evee Bea

2. How was Central and Local Governments structured under the Ching rulers? 20

B e SR (TR 8 AN FAFIER PN @3 et 9

3. Do you think that British mercantile and industrial interests played a role in 10+10
the outbreak of the Opium War? Was opium question an additional issue in
the Opium War?

i 7 W @ @ IR 1w @ Atk ¢ frese T e ot
2o 9 9B T IfFT T o & 9ol iR Ren o wirafes ¢

4. Make a comparative study between the Boxer Movement and the Taiping 20
Rebellion.

IR e 6 OEfR Reaiees 0 93 GEIgee s 3% |

5. What were the far-reaching effects of the May Fourth Movement in Chinese 20
history?
Bt A (1 @ STTICTR R T A B w1 o

3069 2
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10.

3069

Account for the differences in the Chinese and Japanese responses to the
Western impact.

BT &S B @ Tt Rreira ot frcafee o wemrE s e

Do you think that the capitalist growth in Meiji Japan was sponsored by the
State?

iR 3 e e @ IRfE et gore R aiga Sraies zrfRe ¢

Discuss the background and effect of the Sino-Japanese War of 1894-95.
Sro8-d¢ AR HIF-TIoi JraA ~OgHT! 9 FeNT WA T

Discuss the educational reforms in Japan in the latter half of the 19th
Century.
Tfept wforza RIS WNTE Frw1ore B IPIT SCEAD F267 |

Explain the growth of Militarism in Japan during the 1930s and 1940s.
Tyt Szt @ SRR oI ST RIS B AT 36

20

20

20

20



